1 (Sem-3) MDC04/09

2024
( Multidisciplinary Course )

Paper : MDC0300403/MDC0300903
( Personal Income Tax Planning ) :
Full Marks : 45
Time : 2 hours

Theﬁgu'resinthemargiﬁindicateﬁdlmarks
Jfor the questions

1. Answer the following as directed : - 1x5=5
REAIPIR wo1e RaraR e il :
(a) In which year was the Income-tax Act
passed?
@ O SRR Wi RS (2fRe ?

(b) The tax that an assessee pays directly to
the tax authority is called .
( Fill in the blank )
e FIMOIR I eI R 39 M
O ____ QIE|

(0 3 @ 0 )
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(2)

(c) Health insurance premium comes
under which Section of the Income-tax
Act, 19617
=g A 2SR, SR @iRw, 19613 Q0
Y] HKR ?
(i) 80C
(ii) 80 CC
(iij) 80 D
(iv) 80 DD
( Choose the correct answer )

( o= Teach AR Cferear )

(d) Write one consequence of not filing
income tax returns.

SR RO 7iRe w9t «iRefS ot o

(e) Name one tax saving investment for
reducing tax.

wﬁwmaﬁ«mw@ﬁﬁm«
1 forar |

2. Answer any five of the following questions :
2x5=10

wore fran ol R @t fioblx Se fan

(d) Write the meaning of income tax.

R oY forar
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(3)

(b) Name two incomes from house property
' which are exempted from tax under the
Indian Tax Act, 1961.

2 TS ] CIRT WB1 SR W o Rese
RN 9 A, 19617 e 39 (¥ e
== |

(c) State two benefits available to senior
and super senior citizens under the
Income-tax Act, 1961 while calculating
income tax.

RSP A FIR TS GRRR Sz, 19613
RS (TP T OfS @& T9MRII AR Soed

wo1 AR Trae 3901

(d) Write the meaning of perquisites under
* the Indian Income-tax Act, 1961.

TROF TR Wiz, 19617 SRS SRR
A-ReR & o 1

(e) Mention two differences between direct
tax and indirect tax.

ASTF I AIF AT IIT GO {31 K1 AN
e 740 '
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(4)

() Define person under the Indian
Income-tax Act, 1961.

TRON SR iEH, 19617 TS e FRERA
fam

(g9 What do you mean by assessee under
the Indian Income-tax Act, 19617 .
TROW WEFY Witd, 19617 WATe FWSl
fores B =2

(h) Who is a non-resident?

IR I 2

() What:is provident fund?
SRafAfR w1 2

() What is capital asset?
TRt oS e R 2

3. Answer any four of the following questions
(in about 200 words each) : 5x4=20

woR R e wifRkbr e T faan (afeht 200 *=

oege) :

(a) Explain in detail about the scope of
personal tax planning.

e 9 ARTER R R Retere
/A FA N
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(S)

A(b) State the meaning of capitall gain in
detail.

T SRR Y R o

(c) Define Assessment Year and Previous
Year.

1 fRaPre 323 o 7 7759 vew A |

(d) What are the benefits of filing income
tax returns?

R Rl TiRe TR B 7 o1 292

(e) State five incomes exempted from tax.

9 (I ol <oy =i SEs 390

() Explain what is net annual value.

o ART o0 Wew &, =R o

(g9 What are the various allowances
available to employees?

TR IR B & Rica sret smz?
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- (6)

(h) Kamal Kalita owns a house property
which is let out by him for ¥ 6,000 per
month. The following particulars of the
house are providéd :

e e e 9 @B TRA 6,000 F91S
1ot i | 999 R wore faar 439w

Municipal value—<X 70,000
TR FERE—70,000 B

Standard rent—< 80,000
TF ©I%—80,000 B
Fair rent—< 75,000

RY STe—75,000 5

Municipal tax for the house is 10% of the
municipality valuation which is fully
paid by the owner for the previous year
2023-24. You are required to determine
his income from house property for the
Assessment Year 2024-25.

TR IR PSR ¥ T FRTE 10%
R +@e® =3 2023-24 W IR ARRF
e ciReny IR 202425 R
e 3¥T I IO 7 TR o iR
Lol
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(7)

4. Answer any one of the following : , 10
wore fEaRe R @lea 9biR Tes fa

(a) Explain various heads of income under
the Income-tax Act, 1961. 10
UEeY O, 19613 S@We we Rfew

rerr= Rac I <41 |
(b) Write noteson : 5+5=10
GO fora :
() Residential status
AT S
(ii) Annual Information System
T ©y 7
(c) Define salary. Explain in detail about

different components of salary under
the Income-tax Act, 1961. 3+7=10

VRNRIY TR Al | SRS Wiz, 1961 SRS
R Rfen Soame Rew Regeics aram w41

(d) What is new tax regime? How is new tax
regime different from old tax regime?

3+7=10
Tou 3 IRY 7 77 37 I@EOT TGN
IRG (R 8T 2
* % Kk
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